STP 2021-07
Draft Operating Test Comments

NOTE: This summary is being provided in lieu of Form 301-7, “Operating Test Review
Worksheet,” because the operating test was NRC-developed. Comments reflect exam
validation.

ALL Scenarios — include a scenario summary at the beginning, where the scenario objectives
are.

Scenario 1 (100% BOL):

2. Event 1 — include guidance in turnover sheet for Primary Operator to perform dilution
and secondary operator to increase turbine load.

5. D-1 Event 5 — remove verbiage that local action required to trip RTB — not correct.

Scenario 4 (Intermediate Range MOL)

6. CT page 30 “Reduce at least 2 steam generator PORV or Steam Dump setpoints < 1000
psig within 45 minutes of initiation of the SBLOCA”. & Currently says “between 990 and



1000 psig” ... | believe that “less than or equal to 1000 psig” is sufficient ... if they go
less than 990 it would be a performance deficiency but not a CT failure | believe ...

Scenario 5 (85% BOL):
s it Pri _turbine S ar
2. Turnover sheet: explicitly direct the Primary Operator to perform the dilution and the
Secondary Operator to perform turbine load increase.
3. Event 3 tech specs, page 15 use 2015 format for full documentation.

On procedure handout, One line out and initial Unit 1 value in Step 5.8, as a US or SM

would do. Jrelude-instruction-in-handout-to-use- UNIT-2valuesfor-aceumulatorpressure

enly. Note in initiating cue says “temporary mode” instead of “Mod”.

JPM S-3:

JPM S-4:
1. No comments at this time.

JPM S-5:
L \alidationtime = 5-rmi

JPM S-6:
1. No comments at this time.




3. Step 4 — The procedure says “ensure” ... the applicant shouldn’t need to be cued by the
US to reset the Field Ground Dev 64F. At most, US should say “Implement procedure
as written”.

4. Step 4 —add cue after flag reset on FIELD GROUND DEV 64F, “flag is now black”.

JPM P-3:

1. Step 5 cue, the applicant should himself find FC-0011B, and demonstrate how he would
open it. Then examiner inform applicant that another operator reports gauge FC-FI-
1408 now indicates “9”.

2. Step 5 cue: Delete the verbiage “Instruct operator to locate gauges first” and “Now
instruct operator to locate valves adding that” Examiner should not be instructing the
applicant to do this, they should do this per the procedural direction. Also replace
“Ensure the operator” with “After the operator”.

JPM A-3:

spees—#—they—answer—wqaeeeptable— Inltatlng cue sheet #2 doesn’t need to repeat the

same verbiage from cue sheet 1 — it will be confusing.
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Unaceeptable:
JPM A-6:

1. Faskstandard—" ... and calculates the correct as-found and-as-left-differencetAW key”
Ddete—ms%eﬁ“—pamgmph—hel&d&#me%btaﬂ—abee%eh—spe&eﬂ#%seeend
paragraph;—functionalunit—action-statement: Include “Functions 2 & 3, Action 2a.” in task

standard.

JPM A-7 A-7

JPM A-9:
1. No comments at this time.

OTHER COMMENTS



